 1. In order to determine if smoking causes cancer, researchers surveyed a large sample of adults.  For each adult they recorded whether the person had smoked regularly at any period in their life and whether the person had cancer.  They then compared the proportion of cancer cases in those who had smoked regularly at some time in their lives with the proportion of cases in those who had never smoked regularly at any point in their lives.  The researchers found a higher proportion of cancer cases among those who had smoked regularly than among those who had never smoked regularly.  What type of study is this?
 A) An observational study.
 B) An experiment, but not a double-blind experiment.
 C) A double-blind experiment.
 D) A block design.
Use the following to answer question 2.

 A researcher is studying the relationship between sugar consumption and weight gain. Twelve volunteers were randomly assigned to one of two groups. The first group of five participants was put on a diet low in sugar and the second group of the remaining seven participants received 10% of their calories from sugar. After 8 weeks, weight gain was recorded from each participant.
 2. Which of the following basic principles of statistical design was not used in this experiment?
 A) control
 B) randomization
 C) repetition
 D) blinding
Use the following to answer question 3.

 Researchers wish to determine if a new experimental medication will reduce the symptoms of allergy sufferers without the side effect of drowsiness.  To investigate this question, the researchers gave the new medication to 50 adult volunteers who suffer from allergies.  Forty-four of these volunteers reported a significant reduction in their allergy symptoms without any drowsiness.
 3. How could this study be improved?
 A) Include people who do not suffer from allergies in the study in order to represent a more diverse population.
 B) Repeat the study with only the 44 volunteers who reported a significant reduction in their allergy symptoms without any drowsiness, giving them a higher dosage this time.
 C) Give the spouses of the volunteers a placebo.
 D) Use randomization to divide the volunteers into 2 groups—one to receive the experimental medication and one to receive the placebo.
 4. In conducting a randomized comparative experiment an experimenter will often include a group of subjects, known as a control group, to receive a sham treatment.  What is (are) the reason(s) such a control group might be included in the experiment?
 A) To increase the number of subjects and hence increase the sensitivity of the experiment in detecting effects of the treatment.
 B) To gain more complete understanding of any biases that might be present in the experiment.
 C) To enable the experimenter to control the effects of outside variables on the outcome of the experiment.
 D) To repeat the experiment over a greater number of experimental subjects.
 E) To enable the experimenter to more easily make a random assignment of subjects to the groups.
 5. A local research firm often uses newspaper advertisements to invite individuals to volunteer for various experiments the firm is planning to conduct.  One such study was to determine if a newly formulated cream had any beneficial effect on individuals suffering with psoriasis.  Psoriasis sufferers were invited to participate in a study with volunteers to be given either the new cream or a placebo in the form of a cream with similar appearance and feel as the new cream.  What conclusions can be drawn from such studies involving volunteers?
 A) Because there is bias associated with the selection of subjects nothing can be concluded.
 B) In such a study there is great potential for the presence of confounding or lurking variables so little information can be gained.
 C) If one believes the subjects form a representative sample from the population useful information will be gained from such studies.
 D) Because there is no control over the selection of subjects little will be learned from such studies.
 E) Useful information will be gained from studies such as this provided that the individuals who volunteer are randomly assigned to either receive the experimental treatment or the placebo.
Use the following to answer question 6.

 A television station is interested in predicting whether or not voters in its listening area are in favor of federal funding for abortions.  It asks its viewers to phone in and indicate whether they are in favor of or opposed to this.  Of the 2241 viewers who phoned in, 1574 (70.24%) were opposed to federal funding for abortions.
 6. Fill in the blank. The number 70.24% is a _________
 A) statistic.
 B) parameter.
 C) sample.
 D) population.
Use the following to answer question 7.

 In order to assess the opinion of students at a large university about campus snow removal, a reporter for the student newspaper interviews the first 12 students he meets who are willing to express their opinions.
 7. What set of students make up the sample?
 A) All those students favoring prompt snow removal.
 B) All students at universities receiving substantial snow.
 C) The 12 students interviewed.
 D) All students at the University of Minnesota.
Use the following to answer question 8.

 Olivia is planning to take a foreign language class. To research how satisfied other students are with their foreign language classes, she decides to take a sample of 20 such students. The university offers classes in four languages: Spanish, German, French, and Japanese. She will select a simple random sample of five students from each language.
 8. What sampling technique is Olivia using?
 A) A simple random sample.
 B) A stratified sample.
 C) A multistage sample.
 D) None of the above.
Use the following to answer question 9.

 Suppose you are going to roll a die 60 times and record [image: image1.wmf], the proportion of times that an even number (2, 4, or 6) is showing.
 9. Suppose you decide to roll the die 200 times instead of 60 times. How will this affect the center and spread of the sampling distribution of [image: image2.wmf]?
 A) Both the center and the spread will remain the same.
 B) The center will remain the same, but the spread will increase.
 C) The center will remain the same, but the spread will decrease.
 D) Both the center and the spread will decrease.
Use the following to answer question 10.

 The number of undergraduates at Johns Hopkins University is approximately 2000, while the number at Ohio State University is approximately 40,000.
 10. Suppose, instead, that at both schools a simple random sample of about 3% of the undergraduates will be taken.  What can we conclude about the sampling variability for the sample proportion from Johns Hopkins as compared to that from Ohio State?
 A) The sample proportion from Johns Hopkins will have less sampling variability than that from Ohio State.
 B) The sample proportion from Johns Hopkins will have more sampling variability than that from Ohio State.
 C) The sample proportion from Johns Hopkins will have about the same sampling variability as that from Ohio State.
 D) It is impossible to make any statements about the sampling variability of the two samples because the students surveyed were different.
Answer Key - Ch3
 1. A
 2. D
 3. D
 4. C
 5. E
 6. A
 7. C
 8. B
 9. C
 10. B
